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P2/P1 �
������  !"#$%$ &'()(*+,-. / ,()
P1 = x− 8 0
P2 = 9x4

− 66x3
− 41x2

− 45x− 88.

������  !"#$" $ 12(*3, 12(4-5 -6
P1 = x− 2 0
P2 = 5x4

− 4x3
− 5x2

− 8x− 12.

������  !"#$7 $ 8+6 ,(294 12(4-*2 (,
P1 = x− 9 0
P2 = 4x4

− 30x3
− 41x2

− 105x− 108.

������  !"#$: $ 8;4<3, &)46 +=
P1 = x− 9 0
P2 = 2x4

− 14x3
− 25x2

− 82x− 153.

������  !"#$# $ > +=)+<3 &)(*?(*-@
P1 = x− 6 0
P2 = 5x4

− 26x3
− 16x2

− 39x− 54.

������  !"#$A $ BCD( &)(*?(*-@
E2 +F3,)(
P1 = x− 2 0
P2 = 3x4

− 4x3 + 5x2
− 9x− 18.

������  !"#$G$ H -?(4- I2-+ H (5 J35 J(
P1 = x− 4 0
P2 = 6x4

− 15x3
− 21x2

− 52x− 32.

������  !"#$K $ H ;D)+L3, 12(4-*2 (,
P1 = x− 2 0
P2 = 5x4

− 4x3
− 20x− 8.

������  !"#$M $ N (<*-5 3,( > (6 9@
P1 = x− 6 0
P2 = 9x4

− 49x3
− 18x2

− 60x− 72.

������  !"#$%O $ P+2-,()3, &2 +<*()46
P1 = x− 5 0
P2 = 4x4

− 18x3
− 2x2

− 28x− 60.

������  !"#$%%$ P;6 F;.+, Q +,
P+6 F++,-.
P1 = x− 8 0
P2 = 7x4

− 52x3
− 24x2

− 48x− 128.

������  !"#$%" $ P;R()3, P?()-*2 (,
P1 = x− 7 0
P2 = 4x4

− 23x3
− 26x2

− 49x− 98.

������  !"#$%7 $ S+6 +R3,( N (6 F(6 -?(
P1 = x− 2 0
P2 = 3x4 + 2x3

− 2x2
− 23x− 10.

������  !"#$%: $ TR2-)3, 12(4-5 -6
P1 = x− 3 0
P2 = 7x4

− 13x3
− 9x2

− 38x− 21.

������  !"#$%# $ U -23, V -<32(= /29-.
P1 = x− 7 0
P2 = 3x4

− 17x3
− 23x2

− 27x− 56.

������  !"#$%A $ W6 <+,-. 12(4-*2 (,
P1 = x− 3 0
P2 = 5x4

− 11x3
− 3x2

− 20x− 21.



������  !"#$%G $
P1 = x− 7 0
P2 = 8x4

− 50x3
− 30x2

− 75x− 63.

������  !"#$%K $
P1 = x− 8 0
P2 = 5x4

− 31x3
− 62x2

− 68x− 96.
XYZ[

\]^_]` a
bc_de fghi_he jklmnoljp
q P2/P1r

9x3 + 6x2 + 7x+ 11 stuvuwxyz{ |yuv}
5x3 + 6x2 + 7x+ 6 ~�uw�y ~�u�z�z��
4x3 + 6x2 + 13x+ 12 �x�yu��� ~�u�zw�uy�
2x3 + 4x2 + 11x+ 17 �����y sv��x��
5x3 + 4x2 + 8x+ 9 � x�vx�� svuw�uwz��
3x3 + 2x2 + 9x+ 9 ���u svuw�uwz� ��x��yvu�
6x3 + 9x2 + 15x+ 8 �z�u�z ��zx �u�����u�
5x3 + 6x2 + 12x+ 4 ���vx��y ~�u�zw�uy�
9x3 + 5x2 + 12x+ 12 �u�wz��yu � u���r�
4x3 + 2x2 + 8x+ 12 �x�zyuv�y s�x�wuv��rr
7x3 + 4x2 + 8x+ 16 �����{xy � xy �x��xxyz{r}
4x3 + 5x2 + 9x+ 14 �� uv�y ��uvzw�uyr�
3x3 + 8x2 + 14x+ 5 ¡x�x �yu � u��u�z�ur�
7x3 + 8x2 + 15x+ 7 ¢ �zv�y ~�u�z�z�r�
3x3 + 4x2 + 5x+ 8 £z��y ¤z���u� |��z{r�
5x3 + 4x2 + 9x+ 7 ¥��xyz{ ~�u�zw�uyr�
8x3 + 6x2 + 12x+ 9r�
5x3 + 9x2 + 10x+ 12¦§¨© ª«¬­ }�®®¯°±


